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XH EHE LERTPEE(—EE |)013/11/18 500

HFTE)
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ARE {éiﬁi%ﬁ_ﬁga 2013/11/18 500
il 5 @%{}i%ﬁ(_ﬁga 2013/11/18 500
it m— {éiﬁi%ﬁ_ﬁga 2013/11/18 500
e BE %iﬁz)&ﬁ(—ﬁga 2013/11/18 500
BH RF %g{‘é%ﬁ(_ﬁ%ﬁ 2013/11/18 500
AH &R %iﬁz)&ﬁ(—ﬁga 2013/11/18 500
KA R %gfé%ﬁ(_ﬁ%ﬁ 2013/11/18 500
AR R gﬁgﬁi)&%(_ﬁgﬁ 2013/11/18 500
AR FRF ﬁgfgz%%(_ﬁ%ﬁ 2013/11/18 500
At EE gﬁgﬁi)&%(_ﬁgﬁ 2013/11/18 500
AN BB ﬁﬁ%@(_% 2013/11/18 500
AE 54 gggﬁz)gﬁ(—ﬁga 2013/11/18 500
mE BN ﬁgﬁiéﬁ(_ﬁgg 2013/11/18 500
BEA &g gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/11/18 500
E I P S ﬁgﬁiéﬁ(_ﬁgg 2013/11/18 500
iyl %gﬁi)&%(—ﬁﬁﬁ 2013/11/18 500
BHE BEA %gﬁi?ﬁ(_ﬁgg 2013/11/18 500
BE BT E‘iﬁiﬁ%%?l 2013/11/19| 500,000
BE E%ﬁiﬁ%g? 2013/11/20| 500,000
BR B= %ﬁgi)&ﬁ (B’ |5013/12/10] 300000
Bk FA %i;?gﬁ(i&i 2013/12/11 10,000
BFH LERTPEE(—EE |)013/12/17 500

HFTE)
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RK HE {éiﬁi%ﬁ_ﬁga 2013/12/17 500
Fk B @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
Rk 23 {éiﬁi%ﬁ_ﬁga 2013/12/17 500
Fik 2 %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
—F RX %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
WE B8 %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
Bl SPF %gﬁi)&ﬁ(—ﬁﬁa 2013/12/17 500
FIH S gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
KF #ith ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
KHE fi— gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
ME fXx ﬁ%ﬁiﬁ%(_ﬁ%ﬁ 2013/12/17 500
EE g gggﬁz%@—ﬁga 2013/12/17 500
5% % ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
Bl R gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
i Ed ﬁgﬁgﬁﬁ(_ﬁ&g 2013/12/17 500
s B %gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
BR T %gﬁiﬁﬁ(_ﬁgg 2013/12/17 500
BE B {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
BA RE %gﬁiﬁﬁ(_ﬁgg 2013/12/17 500
T# &= {éi{j\;z)&ﬁ(—ﬁﬁa 2013/12/17 500
A KA @%{}i)&ﬁ(_ﬁga 2013/12/17 500
AR BT LERTPEE(—EE |)013/12/17 500

HFTE)
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AR g %gﬁi)&ﬁ—ﬁ%@ 2013/12/17 500
fERE 559 @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
BR & {éiﬁi%ﬁ_ﬁga 2013/12/17 500
' =— %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
5 W %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
fLl #58] %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
Al EH %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
Al 1Ex gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
EHk £E ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
HE e gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
HlE EE ﬁﬁ%@(_% 2013/12/17 500
HH EA gggﬁz)gﬁ(—ﬁga 2013/12/17 500
TH KtE ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
HH BA gﬁ&gﬁz‘*)&%(—ﬁﬁﬁ 2013/12/17 500
HH B ﬁgﬁgﬁﬁ(_ﬁ%g 2013/12/17 500
HR BEEE gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
& F %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
fRE BE {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
EH 2EX %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
E@ - {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
R #— @%{}i%ﬁ(_ﬁga 2013/12/17 500
Tl EE LERTPEE(—EE |)013/12/17 500

HFTE)




SETEAL FitER ZALEH ZAFEHH| FHEE
Ik E4 {éiﬁi%ﬁ_ﬁga 2013/12/17 500
IR RE @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
FE BX {éiﬁi%ﬁ_ﬁga 2013/12/17 500
=15 ik %iﬁi)&ﬁ(—ﬁ%ﬁ 2013/12/17 500
aa fx %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
=m| g %iﬁi)&ﬁ(—ﬁ%ﬁ 2013/12/17 500
=8 B %gﬁi)&ﬁ(—ﬁﬁa 2013/12/17 500
SR A gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
ik £X ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
£k FIAT gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
(= ﬁﬁ%@(_% 2013/12/17 500
Bl B gggﬁz)gﬁ(—ﬁga 2013/12/17 500
IR IE# ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
/T HMA gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
RO MIE ﬁgﬁgﬁﬁ(_ﬁ&g 2013/12/17 500
=57 % gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
=t #x %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
=g 3h {éiﬁz)gﬁ(—ﬁga 2013/12/17 500
T —EB %gﬁiﬁﬁ(_ﬁgg 2013/12/17 500
AR Bal#st {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
i =E @%{}i)&ﬁ(_ﬁga 2013/12/17 500
A ¥ LERTPEE(—EE |)013/12/17 500

HFTE)
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WA i {éiﬁi%ﬁ_ﬁga 2013/12/17 500
L = @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
s $E {éiﬁi%ﬁ_ﬁga 2013/12/17 500
s FHit %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
% MR %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
ME B8R %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
@ Ez %gﬁi)&ﬁ(—ﬁﬁa 2013/12/17 500
BE Mk gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
HR ERE ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
Ho 8l gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
BE BEA ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
INIL D &R gggﬁz)gﬁ(—ﬁga 2013/12/17 500
N S ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
INER %gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
HAE flth ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
WAR BRER %iﬁ:)&ﬁ(—ﬁ%ﬁ 2013/12/17 500
WE W% %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
/AP N=E 3 {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
mER #H¥ %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
WA —5h {éiﬁi)&@(—ﬁga 2013/12/17 500
+ B @%{}i)&ﬁ(_ﬁga 2013/12/17 500
g At LERTPEE(—EE |)013/12/17 500

HFTE)
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ZHA & {éiﬁi%ﬁ_ﬁga 2013/12/17 500
MR BE @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
L &= {égﬁi%@(_ﬁga 2013/12/17 500
HE B %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
EXR 2% %gﬁi)&ﬁ(—ﬁga 2013/12/17 500
AO FEE %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
FaYE EZ %gﬁi)&ﬁ(—ﬁﬁa 2013/12/17 500
il e gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
iR 27 ﬁgﬁz%@_ﬁgg 2013/12/17 500
Bl RFE gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
Bl EM ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
no Es gﬁgﬁzéﬁ(_ﬁgﬁ 2013/12/17 500
Nt @& ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
NE # gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
ng ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
A% BhE gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
BE ®B= %iﬁi)&ﬁ(—ﬁ%ﬁ 2013/12/17 500
I EX {éiﬁi)&@(—ﬁga 2013/12/17 500
PN %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
Kig FiEF {éiﬁi)&@(—ﬁga 2013/12/17 500
Kig = @%{}i%ﬁ(_ﬁga 2013/12/17 500
e E LERTPEE(—EE |)013/12/17 500

HFTE)
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KE KF {éiﬁi%ﬁ_ﬁga 2013/12/17 500
KE RE @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
BE i {éiﬁi%ﬁ_ﬁga 2013/12/17 500
&l —& %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
il —& %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
hEE EF %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
Il A %gﬁi)&ﬁ(—ﬁﬁa 2013/12/17 500
AT i gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
S ﬁgfgz%%(_ﬁ%ﬁ 2013/12/17 500
ha AR gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
T8 & ﬁ%ﬁiﬁ%(_ﬁ%ﬁ 2013/12/17 500
e & gggﬁz)gﬁ(—ﬁga 2013/12/17 500
=5 = ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
AE # %gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
Bt #HE ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
B fiF gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
He {53A %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
He &8 {éiﬁi)&@(—ﬁga 2013/12/17 500
tE ®F ﬁgj@i%ﬁ(_ﬁgg 2013/12/17 500
THE e {éiﬁi)&@(—ﬁga 2013/12/17 500
EH % @iﬁi)&ﬁ(—ﬁ%a 2013/12/17 500
BH BA LERTPEE(—EE |)013/12/17 500

HFTE)
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HE BEA {éiﬁi%ﬁ_ﬁga 2013/12/17 500
e = @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
Bl = %gﬁi)&ﬁ—ﬁ%@ 2013/12/17 500
BEth REEK %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
we Ex %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
BRIF K# %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
Bk E %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
il A gﬁiﬁi)&%(_ﬁgﬁ 2013/12/17 500
FiL #EZ ﬁﬁ%@(_% 2013/12/17 500
FE) OBE gﬁgﬁi)&%(_ﬁgﬁ 2013/12/17 500
XM HE ﬁgﬁz%@—ﬁgg 2013/12/17 500
AE R gggﬁz)gﬁ(—ﬁga 2013/12/17 500
Al = ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
et wE— gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
e BEE ﬁgﬁiéﬁ(_ﬁgg 2013/12/17 500
EE &3 gﬁ&gﬁi)&%(—ﬁﬁﬁ 2013/12/17 500
AH HR %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
RE FIEB {éiﬁi)&ﬁ(—ﬁga 2013/12/17 500
KR FRid %gﬁi?ﬁ(_ﬁgg 2013/12/17 500
AR FRF {éiﬁi)&@(—ﬁga 2013/12/17 500
A E% @%{}i%ﬁ(_ﬁga 2013/12/17 500
AW RH LERTPEE(—EE |)013/12/17 500

HFTE)




SETEAL FitER ZALEH ZAFEHH| FHEE
AE A {éiﬁi%ﬁ_ﬁga 2013/12/17 500
o B @?{j‘;z%ﬁ(—ﬂga 2013/12/17 500
BE BiE {éiﬁi%ﬁ_ﬁga 2013/12/17 500
BH £X %iﬁz)&ﬁ(—ﬁga 2013/12/17 500
pif %g{‘é%ﬁ(_ﬁ%ﬁ 2013/12/17 500
BAE EA ggiﬁi)&ﬁ(—ﬁga 2013/12/17 500
FILLh—Y T—UF %i;?ﬁg%@%ﬁ 2013/12/20 1,000
£k FIAT ég;?gf@ii 2013/12/20 50,000
R W ﬁ%ﬁiﬁ%(_ﬁ%ﬁ 2014/01/17 500
Rk 7 gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
FEk &L ﬁ%ﬁiﬁ%(_ﬁ%ﬁ 2014/01/17 500
Rk 23 gggﬁz%@(—ﬁga 2014/01/17 500
Pk 2 ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
—F RBx %gﬁi)&%(—ﬁ%ﬁ 2014/01/17 500
WE B8 ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
Rl SoF %gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
FH R %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
kI it {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
KE fi— %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
ME X {éiﬁi)&@(—ﬁga 2014/01/17 500
EE @?ﬁiéﬁ(_ﬁga 2014/01/17 500
5% % LERTFEE(—EB |)014/01/17 500

HFTE)




SETEAL FitER ZALEH ZAFEHH| FHEE
Bl TR {éiﬁi%ﬁ_ﬁga 2014/01/17 500
BiE Kz @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
BiE s {éiﬁi%ﬁ_ﬁga 2014/01/17 500
Bx & %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
BE & ggﬁi)&ﬁ(_ﬁgﬁ 2014/01/17 500
X R2 %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
T# A= gg{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
AIRE RF gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
AR BT ﬁgﬁzﬁé(_ﬁgg 2014/01/17 500
AR gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
fem FH ﬁﬁ%@(_% 2014/01/17 500
BRE & gggﬁz)gﬁ(—ﬁga 2014/01/17 500
'’ =— ﬁgﬁgﬁﬁ(_ﬁ&g 2014/01/17 500
8 T gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
FARITE 3 ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
Al BEE gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
FANITRE = 5°8 %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
Hk £E {éiﬁi)&@(—ﬁga 2014/01/17 500
HE %gﬁiﬁﬁ(_ﬁgg 2014/01/17 500
HE EE {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
TH EA @%{}i)&ﬁ(_ﬁga 2014/01/17 500
EH KE LERTFEE(—EB |)014/01/17 500

HFTE)




SETEAL FitER ZALEH ZAFEHH| FHEE
HH A {éiﬁi%ﬁ_ﬁga 2014/01/17 500
TH B @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
TN BEEE {éiﬁi%ﬁ_ﬁga 2014/01/17 500
& ¥ %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
fRE BE %g{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
FHA ZEX %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
ZH #— %gﬁi)&ﬁ(—ﬁﬁa 2014/01/17 500
R #— gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
mi EE ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
Tk = gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
IR & ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
R ER gggﬁz)gﬁ(—ﬁga 2014/01/17 500
=i ikt ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
Ba X gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
=H & ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
=E e %gﬁi)&%(—ﬁ%ﬁ 2014/01/17 500
4% A %gﬁiﬁﬁ(_ﬁgg 2014/01/17 500
1EBE 83X {éiﬁi)&@(—ﬁga 2014/01/17 500
ki RAT %gﬁiﬁﬁ(_ﬁgg 2014/01/17 500
R 7 {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
Bl @ @iﬁi)&ﬁ(—ﬁ%a 2014/01/17 500
Ritg IE# LERTFEE(—EB |)014/01/17 500

HFTE)
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®AO RIE %gﬁi)&ﬁ—ﬁ%a 2014/01/17 500
=97 @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
=t ®WX {éiﬁi%ﬁ_ﬁga 2014/01/17 500
=8 3A ggiﬁi)&ﬁ(—ﬁga 2014/01/17 500
W —&R %gﬁi)&ﬁ(—ﬁﬁa 2014/01/17 500
AR BAl#st %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
i RE %gﬁi)&ﬁ(—ﬁga 2014/01/17 500
A HF gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
WA i ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
g = gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
LR B ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
E | gggﬁz)gﬁ(—ﬁga 2014/01/17 500
% MR ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
mE BF gﬁ&gﬁz‘*)&%(—ﬁﬁﬁ 2014/01/17 500
¥ Ezx ﬁgﬁgﬁﬁ(_ﬁ&g 2014/01/17 500
B Ak gﬁ&gﬁ;&%(—ﬁﬁﬁ 2014/01/17 500
HR EE %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
HOo 1EE) {éiﬁi)&@(—ﬁga 2014/01/17 500
e BA %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
NI DEH {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
INB R @%{}i%ﬁ(_ﬁga 2014/01/17 500
IR TR LERTFEE(—EB |)014/01/17 500

HFTE)
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WE {éiﬁi%ﬁ_ﬁga 2014/01/17 500
MR AR @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
WE W {éiﬁi%ﬁ_ﬁga 2014/01/17 500
A =E 3 %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
mE H¥ %g{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
WA —3h ggiﬁi)&ﬁ(—ﬁga 2014/01/17 500
+ B- %gﬁi)&ﬁ(—ﬁﬁa 2014/01/17 500
i At gﬁiﬁi)&%(_ﬁgﬁ 2014/01/17 500
—HR & ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
MR BE gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
PN ﬁgﬁzéé(_%g 2014/01/17 500
#H W gggﬁz%ﬁ(_ﬁgﬁ 2014/01/17 500
EXR 825 ﬁgﬁgﬁﬁ(_ﬁ&g 2014/01/17 500
A0 F&E& gggﬁz%@—ﬁga 2014/01/17 500
FaYE EH ﬁgﬁgﬁﬁ(_ﬁ&g 2014/01/17 500
Bl #wE gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
AR EF %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
Al RFE {éiﬁi)&@(—ﬁga 2014/01/17 500
BNl EM %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
ne g {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
Nt @& @%{}i%ﬁ(_ﬁga 2014/01/17 500
JIE #% LERTFEE(—EB |)014/01/17 500
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ng {éiﬁi%ﬁ_ﬁga 2014/01/17 500
A% A& @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
HER BZ %gﬁi)&ﬁ—ﬁ%@ 2014/01/17 500
Il EX %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
K #h %g{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
K F2F %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
Kig = %g{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
e ER gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
RE %F ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
KE RE gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
B85 Ml ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
I —%& ggg{j\;g)&ﬁ(—ﬁga 2014/01/17 500
hlE —& ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
hE EE gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
Il A ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
AT gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
SR %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
ha AE {éiﬁi)&@(—ﬁga 2014/01/17 500
hE & %gﬁi?ﬁ(_ﬁgg 2014/01/17 500
tRiE HEE {éiﬁi)&ﬁ(—ﬁga 2014/01/17 500
=8 = @%{}i%ﬁ(_ﬁga 2014/01/17 500
HE & LERTFEE(—EB |)014/01/17 500
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Bt W8 {éiﬁi%ﬁ_ﬁga 2014/01/17 500
Bt #F @?{j‘;z%ﬁ(—ﬂga 2014/01/17 500
HH 153h {éiﬁi%ﬁ_ﬁga 2014/01/17 500
Bt 154 %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
tB &F %g{‘é%ﬁ(_ﬁ%ﬁ 2014/01/17 500
TiE @B %iﬁz)&ﬁ(—ﬁga 2014/01/17 500
EH % %gﬁi)&ﬁ(—ﬁﬁa 2014/01/17 500
B BA gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
BE EA ﬁgfgz%%(_ﬁ%ﬁ 2014/01/17 500
e = gﬁgﬁi)&%(_ﬁgﬁ 2014/01/17 500
Bl ¥ ﬁﬁ%@(_% 2014/01/17 500
BEtth BEEK gggﬁz)gﬁ(—ﬁga 2014/01/17 500
ma BE ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
8RIF KB gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/01/17 500
Bk E ﬁgﬁiéﬁ(_ﬁgg 2014/01/17 500
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BRIFX K gﬁgﬁi)&%(_ﬁgﬁ 2014/03/17 500
Bk E ﬁ%ﬁiﬁ%(_ﬁ%ﬁ 2014/03/17 500
il A gﬁiﬁi)&%(_ﬁgﬁ 2014/03/17 500
FiL #EZ ﬁﬁ%@(_% 2014/03/17 500
EN BEE ggiﬁz%ﬁ(—ﬁgg 2014/03/17 500
XH HE ﬁgﬁgﬁﬁ(_ﬁ%g 2014/03/17 500
AE R gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/03/17 500
Al = ﬁgﬁiéﬁ(_ﬁgg 2014/03/17 500
AT 85 gﬁ&gﬁi)&%(—ﬁﬁﬁ 2014/03/17 500
e mE— %gﬁi?ﬁ(_ﬁgg 2014/03/17 500
& #EE {éiﬁi)&ﬁ(—ﬁga 2014/03/17 500
JEE HRF %gﬁi?ﬁ(_ﬁgg 2014/03/17 500
AH HR {éiﬁg%ﬁ(_ﬁga 2014/03/17 500
KE HRIEB @%{}i%ﬁ(_ﬁga 2014/03/17 500
AR B LERFEE(—EB |)014/03/17 500
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SETEAL FitER ZALEH ZAFEHH| FHEE
AR FRF {éiﬁi%ﬁ_ﬁga 2014/03/17 500

A E% @?{j‘;z%ﬁ(—ﬂga 2014/03/17 500

AN BB {éiﬁi%ﬁ_ﬁga 2014/03/17 500

AFE @4 %iﬁz)&ﬁ(—ﬁga 2014/03/17 500

mE BN %g{‘é%ﬁ(_ﬁ%ﬁ 2014/03/17 500

2E g %iﬁz)&ﬁ(—ﬁga 2014/03/17 500

BH X %g{‘é%ﬁ(_ﬁ%ﬁ 2014/03/17 500

Pyl gﬁgﬁi)&%(_ﬁgﬁ 2014/03/17 500

BHNE BEA ﬁgfgz%%(_ﬁ%ﬁ 2014/03/17 500

T B gﬁ;;iﬁ (=8 12014/03/31] 1000000

ZoOMmC 1,117 #) 4,526,378

BATS - MO T5 22 (#75) B 2116 #) 13,159,878




